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Section A
Answer Question 1.

1 Some sociologists claim that there is greater equality in conjugal roles now than in the past. They
point to an increased sharing of household tasks, responsibilities and power between married
partners and argue that this has resulted in greater equality in relationships between men and
women.

Feminists, however, reject this view of relationships today. Although not all feminists share the
same outlook they do agree that family life continues to be a source of gender inequality. Feminists
highlight concerns such as inequality in the domestic division of labour, differences in decision
making power in the family, and evidence that domestic violence is found in all societies, even
when it is illegal.

(@) What is meant by the term domestic division of labour? [2]

(b) Describe two reasons why men may have more decision making power than women in
families. [4]

(c) Explain why there may be an increased sharing of household tasks between men and women

in the family today. [8]

(d) Assess the contribution of feminist views to our understanding of relationships between men

and women in the family. [11]
Section B

Answer either Question 2 or Question 3.
2 ‘The main reason that marriage is in decline is because it is so much easier to divorce today.’

Explain and assess this view. [25]

3 Explain and assess the view that ethnicity is the main factor influencing family diversity. [25]
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